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Find:

J%iogx
J Jlog(1+e—x)+./logx
Proposed by Khaled Abd Imouti-Syria
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Qx) = dx

Solution by Daniel Sitaru-Romania
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Q(x) =

J%logx
dx
4 Jlog(1+e—x)+,/logx
y=1+e—x, dx = —-dy
x=1=y=e
x=e=>y=1

Jlog(l+e—y)
e \[log(1+e—(1+e—y))+\/log(1+e—y)

B Jlogl+e—1y) dy = : Jlog(1+e—x) .
4 Jlogy +/log(1+e—y) 4 Jlogx + \/log(1 + e —x)
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Q(x) = —

(—dy) =
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Q0x) = J6iogx

4 Jlog(1+e—x)+,/logx

Jiog(1+e—x)
x
4 Jlogx +/log(1+ e —x)

Q(x) =

e

Jlogx dx . Jlog(1+e—x)

2Q(x) = X X
4 Jlog(1+e—x)+,/logx J Jlogx +./log(1+e—x)

[ JTogx + JTog(1 + e —
Jlogx+/log(1+e x)dx

20(x) = 4 Jlog(1+e—x)+,/logx

2Q(x) = | dx
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20(x)=e—1
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